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They became mixed up with others — nyanxa M3mvns

OVERVIEW

The (cited) mawn stated that if he baked bread with wood of 77°wX ¥y (which is 1Y)
the bread is 70X; if this loaf became mixed up with other loaves they all become
Tox.2 In some texts (as well as in our text) it continues that if the mixture became
mixed with others it is 70KX. Our Mo01n teaches that this X07°A 1s incorrect.

- INNA *MAnNy 13°09) NJT 0N 12%29 99N
The n''9 states that the text should not read; nyanX2 n19nXY (and these others
became mixed with others) —

mooIn proves his X073 to be the correct one:
5: 02991 9102 X9 “N9T A1aY NDNA XY 1Y D) KY MIYNN 91017

For in the ‘order’ of 1w, we are not ©71 this phrase of 'n1AMX2 MANXY, neither
in "'y nooR, not in 2°Y97 170,

SUMMARY
The text does not read; MR MINIR).

THINKING IT OVER

Why cannot we MInX2 MANXY 0713 and interpret it to mean (not that one loaf of
batch one fell into batch two, which makes it a Xp*d0 »90,° but rather) that the
entire first batch (which contains the ™MoX7 no) fell into the second batch and
therefore it all becomes MoK, since there is no Xp*50 P50 anymore?!8

"'In our text it reads 727N (not 127wN3).

% The 70X of 1"V is not Y11 even in a thousand (loaves).

? Presumably the meaning of M nX2 M X means as follows; let us assume that the bread (baked with the 77°wx ¥v)
got mixed with fifty loaves (batch one) and one of these loaves got mixed into another fifty loaves (batch two).
According to the n"9, batch two will not be MR, for there is a .n°77 XpP*50 P90 (a dual P50 permitting the bread to be
eaten). It is possible that the loaf from batch two (which we wish to eat) is not the loaf which fell in from batch one
(therefore it is [certainly] 7nm) and even if the loaf from batch two is the same loaf that fell in from batch one,
nevertheless it may not be the loaf which was baked with the 77°wx "2y, therefore it is 0.
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% See footnote # 3.

! [The w17°r will be that it is 710X even though there are 217 0 (see &, M) ]

¥ There is only one 50, whether this is the 7771087 n9. See the 2"2°7 in 727wN1 7"7 R,01 1"V 'OIN.
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